EARAZROREIERT — 2 N—XBISY —F 2018512848 (&) 18@E4&R4H

M >%—#% C14 B R
[AE4£] 1% :270,000 M ~ 23#%&:62,000"  33%&:32,000H” . 437&:24,000H . 57 :16,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- — BEEALA : —0-1- - Hi= (2R
el 7oves=L77 3 | BE 1.(3_9).2 2-2-1-1 | 39.7 3 <4+115) %ML% (&R)
L:7v3IF—L B:¥X3y hLTFa A HFE
) . HR{EE] .39, o n_ . — SHEUE (£R)
N IS TAYE S it 3 s 1(13/92)3 3-3-3-3 | 39.6 4 (4_275) by
L:wy)EdyR B:FFRT4TLZR Eliztve]
- N > 3 | REXA 1:39.5 4-6-3-3 [39.7| — 1 513 | BRI (£R)
3|11 |71—7A-1— 5.0 M Ly | xREET
L:¥r/0704 B:FLTT7ZEX (AYiorie]
AXEF - I >3 saafﬂglEﬁ 1:(329).9 1-1-1-1 | 404 — | 2 ;1_743; gﬂ;g% (&iR)
RixyULTyk B:AXEYY-— Evily RTp—L4
o IBIZET 140, -11-11- . — NEEFE (£R)
F—F1X 4 4 5%.0 1 (430)6 11-11-11-8 | 39.4 9 (4_7;)) e
L:F1=TZ2h1 B:T74UTLFZ mN77— L4
2/ )0/ R 407 ;%’_Eg%i 1:(410).8 9-9-9-7 [39.9| — 10 | 47 ﬁ%?;%ﬁﬁ)
x> JAXRZ N B:34x7 12 S S0 ~NA IS
AL RA XN~ o4 ‘é‘zfg% 1:(431).4 8775 |41.2| — | 7 | 443 g%ig (&R
RTUTANINE By KR =T 9 g g
=f 4 g | AREBAML 1:41.5 9-10-8-10 | 40.8 | — 6 474 | HHE—t (£R)
81810 7{73/7]'\'7 [N 56.0 (172) ) | A&
R:F1508) B RIS BT r—L4
N LHER 41, -3-3- . — EiEtRe (£R)
955 T4 N T 4 8 %0 1(741t)6 4-3-3-6 41.9 8 ‘22? bl
L:hIHATA4A4— B:4—-0O0F7/)03 gl Rl
B 4 5 | B 1:42.3 6-5-6-9 |42.4| — 5 441 | BtERZ (£R)
10[7] 9 | RN 56.0 ) 4o |EOSE
LT RIA Y L—> BEZXTr—Ta—1 H—L—+ T vIN> - T7—LBRS
N s = $FARK— : -8-9- - A — (&R
1 3| I—Kk=2=2 it 4 o 1.&33.4 7-8-9-11 | 43.0 1 (3_723) i (
L =FHI79> Bio1vT4 VAL N Chae]
® I —F—@EBIERL
13—7+— 6,11,8,(1,5),9,3,2,(7,10) ,4
25— — 6,11,(5,8),9,1,2,3,7,10,4
Jol=5r= (6,11),(1,5,8),9,2,10,(3,7) ,4
40—+ — (6,11),(1,8),2,5,7,4,9,10,3
[ N3
B OB 1 970M 714K 8-11 1,180H % E 7-8 2,080M RPEL ) 1-8-11 1,560M
8 B 1 140 1-11 220M B 8-7 5,170M K31 11-8-1 30,890M
8 280 1-8 410 B E 8-11 4,580
1 120 B H 11-8 9,740M

ABICOVWTRDTEEERROODE. TR LIV,



